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URRVlU

MGU?

I I I

-I I I

-3 3 9

3 3 9,

-3 3 9

1 1 I

4 4 16

-6 6 3 6

4 4 16

-2 2 4

I I 1 I

-I 2 9 103

-0.8 2.5' X.9
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hZ,OOO

60,000

5x.000

56,000

54,000

s2.000

50,000

4x,000

46,000
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Time

225225 // 11 II II II II II II II

200 -200 -

lJ5 -lJ5 -

cc

I2I2
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<<

, 4 I I I fL-----L
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N=CY
N

CXY/,I-
X2

3

2512

2513

2514

2515

2516

2517

2518

X

-3

-2

- 1

0

1

2

3

Y XY X2

41,070 -123,210 9

44,82  1 -89,642 4

46,008 -46,008 1

48,357 0 0

52,643 52,643 7

54,294 108,588 4

58,165 174,495 9

sau 345,358 76,866 28

GM 303 523



CY(g = --
N

CXYb=------
Cx’

345,358

7

76,866

28

49,336.8

2.745.2
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2518

Y (IphZP1) Yc @phml%&')

41,070 41,010

44,821 43,846

46,008 46,592

48,357 49,337

52,643 52,087

54,294 54,827

58,165 57,572
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Y 2519 a + bX

49,336.8  + 2,145.2(4)

49,336.8  + 10,980.S

60,317.6
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?J
2512

2513

2514

2515

2516

2517

2518

sa¶l

Y (tb=i;s)  = A

41,070

44,821

46,008

48,357

52,643

54,294

58,165

Y (dldlOd2bld)  = c A - C

41,010 -31

43,846 915

46,592 -584

49,331 -980

52,067 561

54,827 -533

57,572 593

(A - C)’

961

950,625

341,056

960,400

314,721

284,089

351,649

3203,501
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= 4640,700

= 800.4
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il

2512

2513

2514

2515

2516

2517

2518

mal

thI1ean1sw1a

Swpnainnssu

343,050

378,190

408,280

448,050

472,840

5 15,640

533,190

3,099,240

d3mamm~~
I I

n”aikehl?-r

46,072

49,468

43,93  I

49,42156,789

50,068

55,397

351,146

13.43

13.08

10.76

11.03

12.01

9.71

10.37

II.33

rrYlwrRs;~!
d%l¶l~-!

84.36

86.62

105.30

102.72

94.34

116.63

109.26

L

38,866

42,849

46,259

50,766

53,525

58,119

60,827

351,263

.

40,000

2511 2512 2513 2514 2515 2516 2517 2518

GM 303 5 2 9



Y 2519 50m163.7 + 1,529(X)

50,163.7  + 1,529 (4)

,f-hTJlns&~a 56.283

2519 5OJ80.4  + 3,694.Z

50,180.4  + 3,694.2  (4)

64,96  1
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5 0 .
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samam

2507

2508

2509

2510

2511

2512

2513

2514

2515

2516

2517

2518

X

-11

-9

- 7

- 5

- 3

-1

1

3

5

7

9

11

Y XY

137.1 -1,508.l

149.2 -1,342.S

153.9 -1,077.3

175.3 -876.5

177.6 -532.8

182.2 -182.2

193.8 193.8

195.1 585.3

197.7 988.5

204.4 1,430,s

212.9 1,916.l

214.0 2,354.0

2,193.2 1,948.S

X2

1 2 1

81

49

25

9

1

1

9

25

49

21

1 2 1

572

X2Y X’

16,589.l 14,461

12,085.2 6,561

7,541.l 2,401

4,382.5 625

1,598.4 8 1

182.2 1

193.8 1

1,755.9 8 1

4,942.5 625

10,015.6 2,401

17,244.9 6,561

25,894.O 14,461

102,425.2 48,680

ix&! c = 12(102,425.2)  - (572)(2,193.2)

12(48,680)  - (572)(572)

= 1,229,102.4  - 1,254,510.4

583,440 - 327,184

= - 25,408

256,256

Z-Z -0.009

532
i

GM 303



CY-CCX2

N

=

=

=

h =

=

Y, =

=

2J93.2 -(-0.009)(572)

12

2J93.2 -(-56.6)

12

187.5

1,948,s

572

3.41

a +- bX  + cXz

187.5 + 3.14X + (-0.009)X’

187.5 -t  44.33 - 19.73

215.1



4%MXtl

2507

2508

2509

2510

2511

2512

2513

2514

2515

2516

2517

2518

JaOl

Y (th%)  = A Yc  (&ilwm)  = C A - C

137.1 138.0 -0 .9

149.2 148.8 +0.4

153.9 158.8 -4.9

175.3 168.0 +7.3

177.6 176.4 +1.2

182.2 184.0 -1.8

193.8 190.8 +3.0

195.1 196.8 -1.7

197.7 202.1 -4.4

204.4 206.5 -2.1

212.9 210.2 +2.7

214.0 213.0 +1.0

(A -C)

0.81

0.16

4.01

53.9

1.44

3.24

9.00

2.89

.36

4.41

7.29

1.00

126.90

MwhTmJ6~0~U  9 5 % Stilf%  1 . 9 6  $0  1 . 3 5  C&6  dlW~lfd~~+k~

215.1 + 7.35 ailfk 222.45 n”lq& 215.1 - 7.35 Wilf% 207.75
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wlaai3l(Yi)

2507

2508

2509

2510

2 5 1 1

2 5 1 2

2 5 1 3

2514

2 5 1 5

2516

2 5 1 7

2 5 1 8

aau

X

-11

- 9

-1

- 5

- 3

-I

1

3

5

I

9

11

Y

137.1

149.2

153.9

175.3

171.6

182.2

193.8

195.1

197.7

204.4

212.9

214.0

2,193.2

CYa=- =
2J93.3

= 182.77
&Y 1,948.8  12

h=-------
Xx’

= 3.41
8 7 2

X2 XY

121 - 1,508.l

81 - 1,342.X

4 9 -1,077.3

2 5 -876.5

9 -532.8

1 -182.2

1 -193.8

9 -585.3

2 5 -988.5

4 9 -1,430.8

81 -1,916.l

121 -2,354.0

4 7 2 -1,948.8

Y, = a+bx =  182 .77 -3 .41 (X )
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samam Fil&(Y)=  A fiifi~wam(u)C=c

2507 137.1 145.3

2508 149.2 152.1

2509 153.9 158.9

2510 175.3 1 6 5 . 7

2511 177.6 192.5

2512 182.2 179.4

2513 193.8 186.2

2514 195.1 193.0

2515 197.7 199.8

2516 204.4 206 .6

2517 212.9 213.5

2518 214.0 220.3

'bao1

A - C (A-C)

-8.2 67.2

-2.9 8.5

-5.0 25.0

-9.6 92.2

-5.1 26.0

-2.8 7.8

-7.6 57.8

-2.1 4.4

-2.1 4.4

-2.2 4.8

-0.6 0.4

-6.3 39.7

3138.1

= 5.81
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2511 -7

2512 - 5

2513 - 3

2514 -1

2515 1

2516 3

2517 5

2518 7

X Yd/O XY X2

10.32 -72.24 49

10.59 -52.95 25

10.67 -32.01 9

10.92 -10.92 1

11.64 11.64 1

11.90 36.70 9

12.63 63.15 25

13.41 93.87 49

92.08 36.24 168

a = cy - Cx’
N

= 22.08-(0.013)(168)

8

89.90=
8

XIY

505.68

264.75

94.03

IO.92

11.64

107.00

315.75

857.09

1,968.96

x 4

2,401

625

8 1

1

1

81

625

2,401

6,216

= 11.238
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b =

=

=

C =

=

=

E

=

Y

36.24

168

0.216

rev’)  - &‘xcv>
NCX4H(CX2)2

8(1,968.96)  - (168)(2.08)

8(6,216)  - (168)*

15,75  1.68 - 15,469.44

49,728 - 28,224

282.24

2 1.504

0.013

Y,  = 11.238 + 0.216(X) + 0.013(X2)

ua:aiaub6tiSW~lp7lu~  2519  &I

Y 2519  = 11.238 + 0.216(g)  + 0.013(81)

= 14.24
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9
2511

2512

2513

2514

2515

2516

2517

2518

dlai%J  (A)

10.2 10.36

10.59 10.48

10.67 10.71

10.92 11.04

11.64 11.47

11.90 12.00

12.63 12.64

13.41 13.39

SE  =

=

=

r---~~4432

N - 3

0.069 1J5

A - C (A-C)

-0.04 O.OO16

0.11 0.0121

-0.04 0.0016

-0.12 0.0144

0.17 0.0289

-0.10 0.0100

-0.01 0.0001

0.02 0.0004
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